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QUESTION 1

What is the purpose of the command shown in the exhibit?
[edit protocols l1lZ2-learning]
user@switch# show

disable—vxlan-multicast—-transit {
vxlan-multicast—-group 239.0.0.1;

A. to stop the transmission of transit multicast traffic when there are no interested receivers attached to a remote VTEP.
B. to disallow IGMP requests for the group 239.0.0.1 from hosts attached to the local VTEP.

C. to disable the multicast group 239.0.0.1 across the entire VXLAN.

D. to stop the reception of transit multicast traffic when there are no interested receivers attached to the local VTEP.

Correct Answer: A

QUESTION 2

Which two statements describe an IP fabric? (Choose two.)
A. Open standards allow for vendor interoperability.

B. Each leaf should have a connection to each spine.

C. xSTP protocols should be used to prevent loops.

D. Traffic should always follow a single path.

Correct Answer: BC

QUESTION 3

Which EVPN route type would be used in a DCI situation in which the IP subnets between data centers are completely
unique?

A. Type 2
B. Type 3
C.Type 4
D. Type 5

Correct Answer: D
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QUESTION 4

What are three functions supported by the Contrail Command user interface? (Choose three.)
A. enabling VM-to-BMS bridging

B. onboarding of an IP Fabric

C. configuring management domains

D. integrated syslog collector

E. creating virtual networks

Correct Answer: CDE

QUESTION 5

Which two statements define the use of route targets and route distinguishers in an EVPN? (Choose two.)

A. Route targets ensure that routes from different clients remain unique within the data center domain.

B. Route targets identify the VRF into which the route should be placed.

C. Route distinguishers ensure that routes from different clients remain unique within the data center domain.
D. Route distinguishers identify the VRF into which the route should be placed.

Correct Answer: BC

Latest JNO-681 Dumps JNO-681 VCE Dumps JNO-681 Braindumps

Latest INO-681 Dumps | JNO-681 VCE Dumps | JNO-681 Braindumps 3/3


https://www.pass4itsure.com/jn0-681.html
https://www.pass4itsure.com/jn0-681.html
https://www.pass4itsure.com/jn0-681.html
http://www.tcpdf.org
https://www.pass4itsure.com/jn0-681.html
https://www.pass4itsure.com/jn0-681.html
https://www.pass4itsure.com/jn0-681.html

